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98 1)anE [P ES +1.1 +0.5 +0.5 +0.5
21 16 5080 Ea&f FEA (1) 3.22 3.21 3.3C 3.30 3.30
1L F4 HE +1.7 0.1 +1.1 +1.1 +1.1
22| 15 8196 :a[%p &A1= (2) 3.2¢ 3.17 3.2C 3.29 3.29
/) i eb =H +1.7 +0.4 +0.% +1.7 +1.7
23 18] 6739 AZxA &) 3.25 X 3. 18 3.25 3.25
98 5 nvh =48 +1.17 +0.4 +1.7 +1.7
24 3 7227 th#k EF () 3.03 2.8C 2.69 3.03 3.03
TN Y 49% B +1.5 +0.7 +0.€ +1.5 +1.5
25 1 7201 =xRF B3 (1) 2.94 3.01 2.9C 3.01 3.01
w9 b hqb =154 +1.7 +2.6 +0.2 +2.6 +2.6
26 2 6691 BiZE FIEWN) X 2.89 3.01 3.01 3.01
Y749 Y3944 ke +0.5 +0.5 +0.5 +0.5
21 41 7187/hvO EAK () 2.51 X 2. 69 2.69 2.69
1 F Yavs KB +1. € +0.5  +0.5 +0.5
77806 m#E AT (D) DNS
T®t 19 sk BA
9 7226 mnik EX(2) DNS
A B
25 7374 FIE FX Q) DNS
75" 44b #)
27 8731 |m#E &3 (2) DNS
1F/% 19k B4 K
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FEWE Bk

[ 2481
WL B Fon - K % RS - - 3= 3ED 4 5 - mm | EE
=mE naﬁ
1 28| 4191 ;5% 4685h (3) X 5.07 5.37 5.32 5.32
#3/ akno £ AAC +0.9 +1.8 +1.8 +1.8
2 31 4034 HEF Et (1) 4.83 4.98 5.1 5.1 5.1
M1 #4¥ TAY747TC -0.§ +1.€ +1.C +1.0 +1.0
3 25 6771 7:E FEQ) 4.9C 4.99 X 4.99 4.99
VI YK de=#l +0.¢ -1.7 -1.2 -1.2
4/ 27 71383 BE BEX(2) 4.97 4.7C 4.8¢€ 4.97 4.97
4/ 1y B H -1.3 +2.1 +1.1 -1.3 -1.3
5/ 23 6320 AJII @A) 4.77 4.71 4.9] 4.97 4.97
407\ AEHE +1.5 +0.9 +0.¢ +0.9 +0.9
6 20| 5392 1FMA ZE(2) X 4.43 4.94 4.94 4.94
Yhy 714 HNET +0.1 +1.8 +1.8 +1.8
7 13] 7367 HiR BR£ Q) 4.93 4.88 4.82 4.93 4.93
W9 Yastdq Il -1.3 +0.C -1.C -1.3 -1.3
8 21 7018 X #(2) 4.65 4.7¢ 4.8] 4.87 4.87
11/ 73% (53] +0.4 +0.4 -1.2 -1.2 -1.2
9 17| 6980 & #& Q) 4.75 4.84 4.6€ 4.84 4.84
177" F 19h bz 42| +0.5 +0.5 +1.1 +0.5 +0.5
100 29 7871 % B&(2) 4.5¢ 4.77 4.63 4.72 4.72
¥ AV4n EASE T +2.6€ +0.5 +1.4 +0.5 +0.5
11 220 6630 &+ &T|_AMN(2) 4.67 3.41 4.1 4.7 4.71
th* Yh3 94AF 2354 -1.5 -3.& +0.% +0.5 +0.5
12| 30 8377 =& &—(2) 4.61 4.66 4.43 4. 66 4. 66
791 Y94¥ =%:3 +0.5 -0.2 -0.% -0.2 -0.2
13 16 7371 # L KK (2) X 4. 65 X 4. 65 4. 65
TV 4414 el +0. 8 +0.5 +0.5
14, 24 7003 Jil@ #=% (1) X X 4.5 4.50 4.50
1797 F 344 (e +0.7 +0.7 +0.7
15 8| 4810 /hith FE(1) 3.9¢ «x 4.47 4.47 4.47
M Y197° TRHEAE -1.1 +1.1 +1.1 +1.1
16 9 6264|[R A1) 4.21 4.36 4.38 4.38 4.38
N avy A +1.C +0.9 +1.¢ +1.0 +1.0
17 1 710 xhig EX Q) 4.34 4.25 3.78 4.34 4.34
h#F 493 LRz -0.1 -0.3 -1.C -0.1 -0.1
18| 12 7092 # A&} (2) 4.33 X 4. 08 4.33 4.33
MY )Eb ne +1.5 +1.7  +1.5 +1.5
19 3 1218 EiE 1hK(2) 4.31 X 3.7¢  4.31 4. 31
7947 1944 =154 -0.4 +0.4 -0.4 -0.4
20 6 8017 #0O #:E Q2 4.3C X 4.3C 4.30 4.30
19" F 493 Him +0.1 +0.3 +0.1 +0. 1
21 7 4302 &% HER (1) X 4.06 4.24 4.24 4.24
4y MK INEER +0.3 +0.7 +0.7 +0.7
220 19 7221 B4 #@E (2) 4.17 4.18 4.12 4.18 4.18
EEVIVEVEYE =5 -2.C -0.¢ +1.1 -0.6 -0.6
23 10 8031/ BBFE (2) 4.16€ 3.69 4.12 4.16 4.16
w4+ =] -0.3 -0.3 +0.% -0.3 -0.3
24 4/ 8206 =T HA(1) 3.93 4.11 3.8€ 4.1 4.1
Nz U] =H +1.2 -1.3 +0.€ -1.3 -1.3
25 2| 7007|F:R @) 3.43 3.96¢ 3.79 3.96 3.96
7747 Y9 £8 -0.4 +1.3 +0.7 +1.3 +1.3
5 7234 FR RE(1) DNS
349 493 B
11 7015 FTE £%(2) DNS
YEh a0 E8
14 8937 AT i (2) DNS
Y4 eny T’y B
15| 8066 LK FE(2) DNS
Y % 41 EHER
18 4223 5\ )11 B (2) DNS
M Y 14 BHR
261 8194 /chix —#5(2) DNS
Thyh 9% =H
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FEWE Bk

[ 3%A]
M B fn - KA B % -2 s 3BSL 4 s e m® %
11 29 7436 5 ZX@Q) 6.11 6.05 5.95 6.11 6.11
kY 3% 7327 +0.5 +1.( +0.5 +0.5 +0.5
2 31 8532|&:F K (3) 5.84 5.99 5.91 5.99 5.99
734 944 AR +1.7 +0.2 +1.1  +0.2 +0.2
3 28 4192 LuiE #HF Q) 5.71 5.88 X 5.88 5.88
397 Va9 2 AAC -1.C -0.4 -0.4 -0.4
4/ 24 6378 YEA FKZ (3) 5.8C 5.74 5.5% 5.80 5.80
Y95 I44 ZHTALFYIA +0.7 +0.& -0.2 +0.7 +0.7
5 30| 4189/hEk =3 (3) X X 5.8 5.80 5.80
vy fi13j £ AAC +0.1  +0.1 +0. 1
6/ 16/ 6662 53%F & (3) X 5.79 - 5.79 5.79
F1' ) 3% X -0.7 -0.7 -0.7
7 9 6684 hle #45(3) 5.44 5.44 5.6] 5.67 5.67
Thy' v % BE -0.2 -0.2 -0.% -0.5 -0.5
8 19 7204 ## f&FH At (3) 5.65 5.54 4.9% 5.65 5.65
LT 1% =154 +0.4 +0.9 -0.€ +0.4 +0. 4
9 21| 8010 BB EK@) 5.62 4.3C 5.33 5.62 5.62
yary nbk =] +0.1 +1.1 -1.% +0.1 +0.1
100 27| 8015/h[A FZFK Q) X X 5. 61 5. 61 5.61
7 F vy HiR +0.9  +0.9 +0.9
11 18] 6945 1\ #k EE (3) 5.5¢ 537 5.20 5.59 5.59
nwyy b &K +0.2 -0.9 +1.1 +0.2 +0.2
12/ 12/ 8008 #MA Z=& (3) 5.55 5.38 4.88 5.55 5.55
19°F 709 Him +0.7 +0.C +0.2 +0.7 +0.7
13) 15 7041 FJIl EE (2) 5.3¢ 4.93 5 21 5.39 5.39
EVZVIPLKS /A -0.3 +0.€¢ -0.1 -0.3 -0.3
14| 23 5327 =& E{E Q) 5.02 5.12 5.3€ 5.36 5.36
Hyvkaie) B 1L FT +0.2 -0.9 +0.3 +0.3 +0.3
15/ 20 4671 F& #.HF () 5.34 5.11 5.3 5.34 5.34
a Vel FTAFEHR +1.C +0.1 -0.2 +1.0 +1.0
16| 26| 5238 {#F} X (3) 4.09 5.22 4.84 5.22 5.22
{53 vy = -0.§ +0.5 +0.€ +0.5 +0.5
170 131 4092 (LiE b (1) 4.8 5.19 5. 11 5.19 5.19
97 149 1y R +0.1 +0.2 +0.3 +0.2 +0.2
18 41 7440 HE K Q) 5.05 X 5.17 5.17 5.17
[V MVEVE] 7327 +0. 2 +0.1  +0.1 +0. 1
19, 22 8216 fE =E K@) 5.086 4.8 4.63 5.08 5.08
Thy v 94 =H -0.1 -0.5 -0.3 -0.1 -0.1
20 3 6643 fE& EER () X 5.02 5.05 5.05 5.05
NFAT 950 2354 +0.2 +0.4 +0.4 +0.4
21 5 4678 BT #HA(2) 5.04 4.91 5.01 5.04 5.04
Nz B vivi AR -0.3 +0.2 -0.3 -0.3 -0.3
22 11 4193 &% A& KER (3) 4.95 4.9C 5.03 5.03 5.03
T+ v amsng S AAC +1.3 -0.5 -0.7 -0.2 -0.2
23 17 7873 ;th@A 1= (2) 4.62 X 5.03 5.03 5.03
178" kMY EASE T +0. 8 -0.4 -0.4 -0.4
24 7/ 6680 L ;EAER(3) X 4.98 4.91 4.98 4.98
YA vhng ke -0.€ -0.5 -0.6 -0.6
25 8 1217 &E #tm(2) 3.18 4.97 4.7¢ 4.97 4.97
ENy AV 93 =154 +1.4 +0.4 -0.1 +0.4 +0.4
26/ 10 4672 F® EER(2) 4.69 4.9% X 4.95 4.95
by 2709 tAER +0.4 +0.§ +0.8 +0.8
27 11 6679)3=A FHIEQ) X 4.71 X 4.77 4.77
s 19% BE +0.9 +0.9 +0.9
28 6 8160 #kiL 1ER(3) X X 4.75 4.75 4.75
19%% Lt Ea +2.6  +2.6 +2.6
29 25 7258 #aK EHE (3) X 4.74 4.74 4.74
IWEL M REH +1.4 +1.4 +1.4
30 2 8094 EBrIL E(Z(2) 4.62 X 4.02 4.62 4.62
9193 AV F38 -0. & +0.9 -0.8 -0.8
14] 4299 =i & (2) X X X NM
3349 2197 INER




BF GRIB [6B18H ] 9:00]

F#2$% (1. 500kg)

B RB2IE OR) 39.00 & E B ME 2018/10/07
R
MBS B Fon - E % AR S-S BR #E
1) 3 7649 ;n‘h;ﬁ‘q mﬁ@) B B 12.58 14.03 13.09 14.03
20 1 7862 gﬂ;sﬁé&;ﬁﬁﬂ) S x  9.59 10.29 10.29
32 7424 E}}F; ;‘J?f;ﬁ(” shat 6.18 534 6.16 6.18
B (RE [6A188 [10:40]
Y 4~ yhan-
BB DR CR) 72.60 /i it it 2013/10/25
R
B S Fon - K 4 =g -1- | -2-  -3- | i e
1] 36 5329 E}ffuggﬁ(@ J— 51.89 x | 32.57 51.89
w1y &R ' ' '
4 38 8011 E}}F; i%:z:m _ 41.61 x | 47.96 47.96
5 39 8065 %;’iﬁﬂi@) T X | 46.34 41.00 46.34
6 37 5997 i'%li\% f?}%ﬁg@) Fit 40.14 44.20 46.27 46.27
7 29| 4630 ?’}i”% %}EZ) e 27.70 41.71 40.98 41.71
ool mw e e
Tht 29k 3| ' ' '
10[ 27 8268 ignﬁ? ?f@) B i 33.36 32.85 36.65 36.65
11] 25/ 5919 ﬁ;}ﬁjéﬂfﬂ) - 29.32 35.35 34.42 35.35
1217 6821 m%\fﬁw - 35.05 32.22 21.55 35.05
13 5 4227 Eﬁgfb;&a(” s 33.51 30.61 30.77 33.51
14] 31 8794 il;/?? ff ©) S 33.37 30.09 27.02 33.37
15 32 6505 ;J;E; t%éfm) - x 3311 x 3311
16/ 26/ 7860 ;J;j;ﬁjzaf‘iﬂ) S 32.66 32.86 28.69 32.86
17 24 8269 F:E (2
R R L bt b
TN 2909 [FRANE g ' ' '
19 34 8270 %E};; @ S X x | 32.07 32.07
20 22 8281 ZE jZ tfﬁff” S 29.58 24.45 23.13 29.58




BF

Y* A" )yhan-

MBS B Fon - E % AR % S-S BR #E
2110 7387 73»;{12 EﬁﬁgQ) - 27.84 25.73 19.48 27.84
220 21) 6262 %ILU;?%@) i 25.45 27.32 27.67 27.67
23 20 4184 ;i!iﬁ ﬁi%ﬂ) N 27.40 27.36 25.47 27.40
24 18] 8042 ﬁ;ﬁyﬁiﬂ) - 26.81 25.15 27.40 27.40
25 1) 7085 %ﬂ igw) W 19.30 27.23 14.66 27.23
26 23 8161 E;F{;ﬁﬁ?@) =u 25.96 26.45 26.65 26.65
27 15| 6260 ﬁﬁ }ﬁﬁm) i 20.40 19.22 26.64 26.64
280 4] 7633 Eé;%; ﬁﬁ#ﬂ) B B 22.11 25.84 18.02 25.84
29 16 5503 ‘qu;ﬁ ﬁ%g: 4(2) J— 24.72 24.72
30 8 7384 mHF (D) ; 23.82 24.43 22.26 24.43
4 Yay JKH

31 19] 8278 ?;;;Iol _{%4—*(1) B i 19.14 19.99 24.43 24.43

32 9] 7444 E}f?ﬂﬁﬁ(?) shat 12.30 21.44 19.18 21.44

33 2] 7594 ?;’%%]iﬁ@) I~ 18.27 19.79 19.86 19.86

34 12 7381 zftg’%%@) - 19.46 15.84 18.18 19.46

35 14| 6668 ﬁf]f})r‘;iiﬂ) — 19.16 17.88 x | 19.16

36 13 5916;%%92%%]) - 16.25 18.14 15.81 18.14

37 3 8174 gﬂifﬁ %3%(0 - 13.66 13.66 9.92 13.66

38 3; E(Z)Zl %292@;3) i 9.45 10.91 10. 91 -
HM Y3 iR
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